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GALLERY WALK  

Original Problem Your Work  Answer 

Sample Problem 

3 𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿 = 24 

𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿 + 2 𝑃𝑃ℎ𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 = 18 

2 𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸 ∗ 𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿 = 16 

2 𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻ℎ𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 + 𝑃𝑃ℎ𝑜𝑜𝑜𝑜𝑜𝑜 = 9 

𝑃𝑃ℎ𝑜𝑜𝑜𝑜𝑜𝑜 + 𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻ℎ𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 ∗ 𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿 = ? 

 

3𝐿𝐿 = 24 → 𝐿𝐿 = 24/3 → 𝐿𝐿 = 8 

𝐿𝐿 + 2𝑃𝑃 =  18 → 8 + 2𝑃𝑃 = 18 → 2𝑃𝑃 = 10 → 𝑃𝑃 = 5 

2𝐸𝐸 ∗  𝐿𝐿 =  16 → 2𝐸𝐸 ∗ 8 = 16 → 2𝐸𝐸 = 2 → 𝐸𝐸 = 1 

2𝐻𝐻 +  𝑃𝑃 = 9 → 2𝐻𝐻 + 5 = 9 → 2𝐻𝐻 = 4 → 𝐻𝐻 = 2 

𝑃𝑃 + 𝐻𝐻 ∗ 𝐿𝐿 =? → 5 + 2 ∗ 8 =? → 5 + 16 =  21 

 

𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿𝐿 = 8 

𝑃𝑃ℎ𝑜𝑜𝑜𝑜𝑜𝑜 = 5 

𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸𝐸 = 1 

𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻𝐻ℎ𝑜𝑜𝑜𝑜𝑜𝑜𝑜𝑜 = 2 

𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 = 21 
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